“ERIEER(NO) AIERR #E

FE(BRE): SM3EE(2021FE)
BIER S AETH - RERERKNE R Fr 7£ #h: S5HHEET314 (FHEv 2 — HN)
BIRAE: ALk BIEHESR: NA-721 (RAARE T 0R)
RIEEAE: 1 RRHMED 1 B SEEIEAN0. 04ppmA» 50. 06ppmE TO Y — U WIUTZNU T THLH Z &,
(ERAEFM) 1 B FEEOFRII8UEA30. 06ppmZ il X 722 &
X 7 1EEfEEA B EHEH HEHEHLD HEHEH
A% | xR B &= lE RIEME | @zfr-psmske | BalzBH%e BA=-H#& 10.06ppmELT® sz
ZTDEE ZTDEE ZTDEE B#EzDEE
£ A
B B ] ppm ppm ppm ppm e % B % B % B %
B IRE:S 4 30 715 0.006 0.020 0.014 0.002 0 0.0 0 0.0 0 0.0 0 0.0
(20214F) 5 31 741 0.007 0.024 0.012 0.002 0 0.0 0 0.0 0 0.0 0 0.0
6 30 716 0.007 0.017 0.009 0.004 0 0.0 0 0.0 0 0.0 0 0.0
7 29 718 0.007 0.023 0.013 0.004 0 0.0 0 0.0 0 0.0 0 0.0
8 31 742 0.006 0.014 0.010 0.003 0 0.0 0 0.0 0 0.0 0 0.0
9 30 716 0.006 0.024 0.010 0.003 0 0.0 0 0.0 0 0.0 0 0.0
10 31 741 0.008 0.026 0.013 0.003 0 0.0 0 0.0 0 0.0 0 0.0
11 30 716 0.009 0.038 0.017 0.003 0 0.0 0 0.0 0 0.0 0 0.0
12 23 580 0.009 0.040 0.021 0.001 0 0.0 0 0.0 0 0.0 0 0.0
SH4E 1 31 741 0.008 0.040 0.019 0.000 0 0.0 0 0.0 0 0.0 0 0.0
(20224F) 2 28 668 0.008 0.035 0.018 0.002 0 0.0 0 0.0 0 0.0 0 0.0
3 31 734 0.008 0.027 0.013 0.002 0 0.0 0 0.0 0 0.0 0 0.0
B = 355 8528 |0.007 0.040 0.021 0.000 0 0.0 0 0.0 0 0.0 0 0.0
HEHED
FH98%1E (ppm) 0.016
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THEIAEZER (NO) BIEMR HiE

R (IE) . SRR (202146 1)
BIEM S Hm BB EPEH T ARE R T 7£ #h: TFIWEET2T H575-4 (ENE17 5V
BIEAE: b3tk BIERESS: GLN-354B (R#ET ¢ — /o —72— (BF))
RIBEAE: 1 FFEMED 1 HEHMEN0. 04ppmA> 50, 06ppmE TH Y — N XIFENLL T THDH Z &,
(EHIROEFHE) 1 B FEHEOFF9I8WME 230, 06ppm % @k 2. 72\ N2 &
X 7 1B RE{EAY AEHEH AEHEH BHFEHEHL
R 1EME | BT | Bggm | FPID A Rk :
Jﬁx)]{ﬁ'lﬂi A e | Ty fE o o o 0.1ppm% 0.04ppm% 0.06ppm% 0.04ppmEl £
B | == == sEE | BAER#HEE HBA-BH#HE | BA1-B%E |0.06ppmLTD =
= Zz0EE ZDEIE Z0EE | BHETORE
£ A
B B ] ppm ppm ppm ppm B ] % =] % =] % B %
SFI3E 4 30 715 0.012 0.039 0.021 0.003 0 0.0 0 0.0 0 0.0 0 0.0
(2021%) 5 31 741 0.012 0.041 0.018 0.003 0 0.0 0 0.0 0 0.0 0 0.0
6 30 717 0.013 0.050 0.022 0.005 0 0.0 0 0.0 0 0.0 0 0.0
7 31 739 0.011 0.029 0.018 0.006 0 0.0 0 0.0 0 0.0 0 0.0
8 31 742 0.009 0.037 0.017 0.004 0 0.0 0 0.0 0 0.0 0 0.0
9 30 717 0.012 0.033 0.017 0.005 0 0.0 0 0.0 0 0.0 0 0.0
10 31 740 0.012 0.069 0.017 0.005 0 0.0 0 0.0 0 0.0 0 0.0
11 30 716 0.013 0.038 0.021 0.006 0 0.0 0 0.0 0 0.0 0 0.0
12 31 739 0.014 0.067 0.027 0.003 0 0.0 0 0.0 0 0.0 0 0.0
SH4E 1 31 741 0.011 0.039 0.023 0.001 0 0.0 0 0.0 0 0.0 0 0.0
(20224F) 2 28 669 0.013 0.037 0.022 0.005 0 0.0 0 0.0 0 0.0 0 0.0
3 31 737 0.013 0.043 0.021 0.003 0 0.0 0 0.0 0 0.0 0 0.0
B =5 365 8713 ]0.012 0.069 0.027 0.001 0 0.0 0 0.0 0 0.0 0 0.0
HFEiED
FR98%IE 0.022
(ppm)
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